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QUESTION 1

Which two conditions must exist for VXLAN transport to traverse routers? (Choose two.) 

A. Multicast routing must be enabled. 

B. Proxy ARP must be enabled on the first hop router. 

C. Fast Switching of IP Multicast routing must be disabled. 

D. Auto-RP must be configured on the first hop router. 

Correct Answer: AB 

 

QUESTION 2

Where must the license for vShield be added in order to use it in vCloud Director? 

A. vShield Manager 

B. vCenter Server 

C. vCloud Director 

D. vShield Edge 

Correct Answer: B 

 

QUESTION 3

An organization administrator in the Development organization has been granted rights to a published catalog in the QA
organization. No other access has been granted to users in the Development organization. How can the administrator
ensure that users in the Development organization have access to an ISO that exists in the QA organization? 

A. Copy the ISO to a catalog in the Development organization. 

B. Enable Publishing on the QA catalog containing the ISO. 

C. Add All Organizations to the QA catalog containing the ISO. 

D. Add the Development Organization to the QA catalog containing the ISO. 

Correct Answer: A 

 

QUESTION 4

An administrator needs to deploy several virtual machines. Storage contention between the virtual machines should be
managed by the VMkernel. Some of the virtual machines will use MSCS and should be highly available across the ESXi
5.5 hosts. Which two storage options meet these requirements? (Choose two.) 
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A. iSCSI 

B. NFS 

C. Fibre Channel 

D. VSAN 

Correct Answer: AC 

 

QUESTION 5

A virtual machine in a vApp on a Routed vApp network has an IP address of 169.254.5.100. Which step should the
administrator take to resolve the issue? 

A. In the Configure Services dialog box, modify the Static pool range. 

B. In the Network Properties dialog box, modify the Static pool range. 

C. In the Configure Services dialog box, modify the DHCP pool range. 

D. In the Network Properties dialog box, modify the DHCP pool range. 

Correct Answer: C 
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